PHIL 109 – Review for Final Exam

Translation Solutions

**NOTE:
As always, there are a variety of acceptable solutions to these.  If you’re not sure whether your answer is equivalent to mine, just ask.

(b) Translate the following from English into the “blocks” language:
1. If anything is a cube, c is.


(x Cube(x) ( Cube(c)

2. Unless d is small, it’s larger than something.


(Small(d) ( (x Larger(d, x)

3. Not every cube that’s larger than a dodecahedron has something to its left.


((x[(Cube(x) ( (y(Dodec(y) ( Larger(x, y))) ( (z LeftOf(z, x)]

4. Something other than f is larger than all of the tetrahedra.


(x [x ( f ( (y(Tet(y) ( Larger(x, y))]

5. d is the only cube to the left of e.


LeftOf(d, e) ( (x(LeftOf(x, e) ( x = d)

6. Nothing is to the left of any cube larger than a dodecahedron.


((x(y[LeftOf(x, y) ( Cube(y) ( (z(Dodec(z) ( Larger(y, z))]

7. Anything small with a cube in front of it is larger than it [i.e. the cube].


(x(y[(Small(x) ( Cube(y) ( FrontOf(y, x)) ( Larger(x, y)]

8. If there’s a cube that’s the same size as everything, then it’s to the left of a.


(x[(Cube(x) ( (y SameSize(x, y)) ( LeftOf(x, a)]

9. Something is large if and only if it’s neither small nor medium.


(x[Large(x) ( ((Small(x) ( Medium(x))]

10. There’s a cube that adjoins everything that’s adjoined by anything.  [This one’s tricky!]


(x[Cube(x) ( (y((z Adjoins(y, z) ( Adjoins(x, y))]

11. There’s a set of all of the cubes that are larger than a tetrahedron.


(a[Set(a) ( (y(y ( a ( (Cube(y) ( (z(Tet(z) ( Larger(y, z))))]

“Set(a)” is optional
or
(a[Set(a) ( a = { x | Cube(x) ( (y(Tet(y) ( Larger(x, y)) } ]

“Set(a)” is optional
12. Anything that’s in a set is also in the union of that set with any other set.


(x(a[(Set(a) ( x ( a) ( (b(Set(b) ( x ( a ( b)]

“Set(a)” and “Set(b)” are optional

or
(x(a(b[(Set(a) ( Set(b) ( x ( a) ( x ( a ( b]

“Set(a)” and “Set(b)” are optional
